
�>D5?>< 747>6O5 ��'-20 < ��'-40 E 46F><4F<>>= SIGMA 
 

1. �?<E4=<5 < D45>F4 
 

�47>7>D5?>G=>5 GEFD>=EF6> (��') «%?5>FD» ?D54=47=4G5=> 4?O E6<74=<O 7474 6 6>4>7D5==OE >>F?4E 
<4?>= <>M=>EF<, 6 5OF>6OE 747>6OE >F>?<F5?L=OE ?5G4E < 6 4DG7<E GEFD>=EF64E E 46F><4F<G5E><< 
D57G?<D>64=<5< < >>=FD>?5< 557>?4E=>EF< <E D45>FO. 
 

 
1.1. &5E=<G5E><5 E4D4>F5D<EF<>< 

 
�4<<5=>64=<5 ��'-20 ��'-40 

�4>E<<4?L=4O F5??>64O <>M=>EFL (?D< D45>F5 =4 ?D<D>4=>< 7475), >�F 20 36 
�4>E<<4?L=4O F5??>64O <>M=>EFL 
(?D< D45>F5 =4 E6<65==>< G7?56>4>D>4=>< 7475), >�F 16 30 

$4EE>4 7474 (?D< D45>F5 =4 ?D<D>4=>< 7475), <3/G4E 2.2 4.0 
$4EE>4 7474 (?D< D45>F5 =4 E6<65==>< G7?56>4>D>4=>< 7475), >7 /G4E 1.8 3.3 
�><<=4?L=>5 446?5=<5 7474 ?D< D45>F5 =4 ?D<D>4=>< 7475, <<.6>4.EF 150 
�46?5=<5 7474 ?D< D45>F5 =4 E6<65==>< G7?56>4>D>4=>< 7475, <<.6>4.EF 200 
�D<E>54<=<F5?L=O= D47<5D D57L5O 4?O ?>44G< 7474, 4N=< 1/2 
�454D<FO ��', << (6OE>F4*L<D<=4*7?G5<=4) 275*310*1078 275*310*1117 
�5E, >7 5.0 5.5 
 

1.2. �><??5>F=>EFL 
 
�4<<5=>64=<5 �>?<G5EF6> 
�47>7>D5?>G=>5 GEFD>=EF6> 1 
�><??5>F 747>6>= 46F><4F<>< 1 
�4E?>DF < DG>>6>4EF6> ?> M>E??G4F4F<< 1 
 

 
 
 
 
 
 
 



1.3. %>EF46 < D45>F4 <745?<O 
 

�E=>6=O5 M?5<5=FO 7>D5?><. �5M<= 6<4 747>7>D5?>G=>7> GEFD>=EF64. $<EG=>> 1. 

 
1 - D57G?OF>D ?>44G< 7474 SIGMA-840, 2 - 747>6O= D>6>> <7 =5D6465NM5= EF4?<, 3 - E>??>, 4 - 74?4?L=<>. 

 
�454D<FO 747>7>D5?>G=>7> GEFD>=EF64. $<EG=>> 2. 

 

 
��'-20 

 

 
��'-40 

 
 



1.3.1. 'EFD>=EF6> < ?D<=F<? D45>FO 747>6>= 46F><4F<>< 
 

'EFD>=EF6> 747>6>= 46F><4F<><. $<EG=>> 3. 
 

 
EV1 - >4FGL>4 ?5D6>7> >?4?4=4, EV2 - >4FGL>4 6F>D>7> >?4?4=4. 

 
�6F><4F<>4 <<55F 464 74?>D=OE >?4?4=4. 

÷ ?D< ?>44G5 ?<F4=<O =4 >4FGL>G (EV1) >F>DO645FEO ?5D6O= >?4?4=. 
÷ ?D< ?>44G5 ?<F4=<O =4 >4FGL>G (EV2) >F>DO645FEO 6F>D>= >?4?4= < ?>F>> 7474 ?D>E>4<F 6 

E5D6>E<EF5<G. '65?<G<645FEO 446?5=<5 ?>4 7?46=>= E5D6> <5<5D4=>=, 6 D57G?LF4F5 G57> >F>DO645FEO 
E5D6> >?4?4=. 
 
� E?GG45, 5E?< ?>44G4 7474 <?< M?5>FD<G5EF64 ?D5>D4M45FEO, 446?5=<5 ?DG6<=O >55E?5G<645F 

46F><4F<G5E>>5 74>DOF<5 >?4?4=4. $57G?<D>6>4 6OE>4=>7> 446?5=<O >EGM5EF6?O5FEO D57G?<D>6>G=O< 6<=F>< 
>?4?4=4 D57G?<D>6>< 446?5=<O. �E?< 6OE>4=>5 446?5=<5 ?D56OL45F 4>?GEF<<>5 446?5=<5 D57G?OF>D4, >?4?4= 
D57G?<D>6>< 446?5=<O >F>DO645FEO, 6 D57G?LF4F5 G57> 446?5=<5 ?>4 7?46=>= E5D6> <5<5D4=>= ?4445F, 74>DO64O 
>E=>6=>= >?4?4=. &4><< >5D47><, 6OE>4=>5 446?5=<5 ?D<=<<45F 7444==GN 65?<G<=G. � =4>5>D>F, 5E?< 
6OE>4=>5 446?5=<5 =<65 7444==>7> GD>6=O, >?4?4= D57G?<D>6>< 446?5=<O 74>DO645FEO, 6 D57G?LF4F5 G57> 
E5D6> 446?5=<5 6>7D4EF45F, >F>DO64O >E=>6=>= >?4?4= 

 
� 46F><4F<>5 4>?>?=<F5?L=> GEF4=>6?5=4 >4<5D4 E <5<5D4=>= < ?DG6<=>=, E?G64M5= 4?O <54?5==>7> 

>F>DOF<O >E=>6=>7> >?4?4=4. 
�>744 >4FGL>4 EV1 D47<O>45F E5FL 6 E5D6> E<EF5<5, 747 ?>EFG?45F 6 >4<5DG <54?5==>7> >F>DOF<O. 

�46?5=<5 7474 ?>4 >E=>6=O< >?4?4=>< <5<5D4=O GEF4=46?<645FEO =4 >?D545?5==>< GD>6=5, < G4EF<G=> 
?>76>?O5F 747G ?>EFG?4FL 6 >4<5DG 

�> ?D>L5EF6<< >?D545?5==>7> 6D5<5=<, ?DG6<=4 ??46=>7> >F>DOF<O ?>?=>EFLN E6<<45FEO, ?>MF><G 
>5N5< 5>?LL5 =5 <5=O5FEO, < 446?5=<5 ?>4 >E=>6=>= <5<5D4=>= 5OEFD> ?>6OL45FEO, ?>?=>EFLN >F>DO64O 
>E=>6=>= >?4?4=. 
 
 
 



$<EG=>> 4. 

 
$<EG=>> 5. 

 
 

1.3.2. $57G?<D>6>4 6OE>4=>7> 446?5=<O 
 

�E5 D57G?<D>6>< 4>?6=O 5OFL E45?4=O =4 5475 F5E=<G5E><E E4D4>F5D<EF<> ?.1.1. 
 
 
�D>65DLF5 6E>4=>5 < 6OE>4=>5 446?5=<5, 

<E?>?L7GO LFGF5D 4?O <7<5D5=<O 446?5=<O 7474. �>E?5 
?D>65D><, FM4F5?L=> 747?GL<F5 LFGF5DO 
E>>F65FEF6GNM<<< 6<=F4<<. $5>><5=4G5<O= <><5=F 
74FO6><: 1.0�<. �O=LF5 747?GL>G � < 7465D=<F5 6<=F � 
5E?< 6O E>F<F5 G65?<G<FL 446?5=<5, < 6O65D=5F5 57>, 
5E?< 446?5=<5 =5>5E>4<<> G<5=LL<FL. �>E?5 MF>7> 
?>EF46LF5 74M<F=GN 747?GL>G =4 <5EF>. 
 

$57G?<D>6>4 6OE>4=>7> 446?5=<O. $<EG=>> 6. 
 
 

 
 
 



1.3.3. $57G?<D>6>4 <54?5==>7> >F>DOF<O 
 

$<EG=>> 7. 

 
 $57G?<D>6>4 ??46=>EF< >F>DOF<O >EGM5EF6?O5FEO ?>6>D>F>< D57G?<D>6>G=>7> 6<=F4, EE5<4 
D57G?<D>6>< ?>>474=4 =4 D<EG=>5 7. 
 

2. �E?>?L7>64=<5 ?> =47=4G5=<N 
2.1. ->E??G4F4F<>==O5 >7D4=<G5=<O 

 
2.1.1. �47>7>D5?>G=>5 GEFD>=EF6> <>65F GEF4=46?<64FLEO 6 6>4>7D5==OE >F>?<F5?L=OE >>F?4E <4?>= 

<>M=>EF< < 6 5OF>6OE ?5G4E. 
2.1.2. �><5M5=<5, 6 >>F>D>< M>E??G4F<DG5FEO 747>7>D5?>G=>5 GEFD>=EF6>, 4>?6=> E>>F65FEF6>64FL 

FD55>64=<O< «�D46<? 557>?4E=>EF< E<EF5< 747>D4E?D545?5=<O < 747>?>FD55?5=<O». 
2.1.3. $45>FO ?> GEF4=>6>5 747>7>D5?>G=>7> GEFD>=EF64 4>?6=O ?D><76>4<FLEO D45>F=<>4<< E?G65O 

747>6>7> E>7O=EF64 6 E>>F65FEF6<< E FD55>64=<O<< «�D46<? 557>?4E=>EF< E<EF5< 747>D4E?D545?5=<O < 
747>?>FD55?5=<O». 

2.1.4. �>E?5 <>=F464 747>7>D5?>G=>7> GEFD>=EF64, 46F><4F<>4 D57G?<D>64=<O < 557>?4E=>EF< 4>?6=4 
5OFL ?D>65D5=4 =4 ED454FO64=<5 ?> 6E5< ?4D4<5FD4<, < =4EFD>5=4. 

2.2. 'EF4=>6>4 747>7>D5?>G=>7> GEFD>=EF64. 
�>=F46 747>7>D5?>G=>7> GEFD>=EF64 4>?65= 6O?>?=OFLEO 6 E?54GNM5= ?>E?54>64F5?L=>EF<: 
2.2.1. �4>D5?<F5 ��' > EF5=>5 ?5G< 5>?F4<<, D<EG=>> 8, ?D5464D<F5?L=> =4?>6<6 =4 6=GFD5==NN 

?>65DE=>EFL <564G ��' < EF5=>>= ?5G< G??>F=<F5?L=O= 64D>EF>=><= M?5<5=F. 
2.2.2. 'EF4=>6<F5 F5D<>54??>= =4 6OE>F5 1.5 - 2 < 74>D5?<6 57> =4 EF5=G. �E?< ��' GEF4=46?<645FEO 6 

54==GN ?5GL, F5D<>54??>= =5>5E>4<<> GEF4=>6<FL 6 ?4D<?>G <4>E<<4?L=> >F44?<6 >F ?5G<. 
��������: � 54=5 5?>> G?D46?5=<O GEF4=46?<64=F5 6 ?D5454==<>. � <>=>G <?< ?4D<?>G 

GEF4=46?<64FL 5?>> G?D46?5=<O 74?D5M45FEO. 
 

'EF4=>6>4 F5D<>54??>=4 6 ?4D<?L=>< ?><5M5=<<. $<EG=>> 8. 
 

 
 



'EF4=>6>4 ��'. $<EG=>> 8. 
 

 
 

�?>> G?D46?5=<O. $<EG=>> 9. 
 

 
1- $GG>4 G?D46?5=<O E> L>4?>= F5<?5D4FGD >F 0 4> 90 p%, 2 3 �5D5>?NG4F5?L, 3- �<?>4 (56D>) 

4 3 &5D<>54??>=, 5 3 �455?L =4 747>6GN 46F><4F<>G, 6 3 �=>?>4 E5D>E4 464D<<. 
 
 

2.3. �E?>?L7>64=<5 <745?<O 
 



��$�� ���.'����� ��$���� � $���&' ����%�����: 
÷ ?D>65D<FL =4?<G<5 FO7< 6 4O<>E>45 < >FEGFEF6<5 74?4E4 7474 6 ?><5M5=<<; 
÷ ?D>65FD<FL ?><5M5=<5, 6 >>F>D>< GEF4=>6?5= 747>6O= 4??4D4F, < 57> F>?>G 6 F5G5=<5 5-10 <<=., ?D< 

MF>< 747>6O5 >D4=O ?5D54 7>D5?>>= 4>?6=O 5OFL 74>DOFO; 
�?O 6>?NG5=<O ��' =5>5E>4<<>: 

÷ DGG>G F5D<>D57G?OF>D4 GEF4=>6<FL 6 ?>?>65=<5 «0»; 
÷ 6>?NG<FL ?<F4=<5 (-220�); 
÷ >F>DOFL 747>6O= >D4= =4 747>?D>6>45; 
÷ ??46=> ?>65D=GFL DGG>G F5D<>D57G?OF>D4 ?> G4E>6>= EFD5?>5 < GEF4=>6<FL =5>5E>4<<GN F5<?5D4FGDG, 

7>D5?>4 747>D45FEO =4 ?>?=GN <>M=>EFL. 
÷ 6<7G4?L=> G554<FLEO 6 74?GE>5 ��'. 
÷ 4?O >F>?NG5=<O, DGG>G F5D<>D57G?OF>D4 GEF4=>6<F5 6 ?>?>65=<5 «0»; 
÷ 74>DOFL 747>6O= >D4= =4 747>?D>6>45 

��������! �E?< 747>D5?4EL >D4E=4O ?4<?4 =4 5?>>5 G?D46?5=<O < 7>D5?>4 =5 74?GE>45FEO, 
=5>5E>4<<> =464FL =4 >=>?>G E5D>E4 464D<< 4?O ?5D574?GE>4 46F><4F<><. 
 

2.5. �>7<>6=O5 =5<E?D46=>EF< 
 

�5<E?D46=>EFL �5D>OF=4O ?D<G<=4 %?>E>5 GEFD4=5=<O 

�5F >>=F4>F4 6 M?5>FD>F5?< 
F5D<>D57G?OF>D4. 

�D>65D<FL >>=F4>FO, E=OFL >DOL>G 5?>>4 M?5>FD>>>=F4>F>6, 
?>44FL =4?DO65=<5 =4 >4FGL>G =4?DO<GN, <<=GO 

F5D<>D57G?OF>D. 
��������!!! 

���$/����� ��&���/ ��&',�� 
&�$��$��'�/&�$� 220� 

�64D<==4O 5?>><D>6>4 
>>=FD>??5D4. (�47>D45FEO  
>D4E=4O ?4<?4 =4 5?>>5 

G?D46?5=<O) 

�464FL >=>?>G E5D>E4 464D<< =4 5?>>5 G?D46?5=<O. 

�5 74?GE>45FEO ��' 

�5 D476<745FEO 7>D5?>4 �5D565D=GFL 6<?>G 6 D>75F>5. 

 
3. &D55>64=<O ?> F5E=<>5 557>?4E=>EF< 

 
3.1. � >5E?G6<64=<N 4>?GE>4NFEO ?<F4, >7=4>><?5==O5 E GEFD>=EF6>< < ?D46<?4<< M>E??G4F4F<< 

747>7>D5?>G=>7> GEFD>=EF64 < ?D>L54L<5 <=EFDG>F46 ?> 557>?4E=O< <5F>44< D45>FO E 747><. 
3.2. �> <75564=<5 =5EG4EF=OE E?GG456 < 6OE>44 <7 EFD>O 747>7>D5?>G=>7> GEFD>=EF64 
���$�-��&%/: 

÷ 6>?NG4FL 7>D5?>G 45FO< < ?<F4<, =5 ?D>L54L<< <=EFDG>F46 ?> M>E??G4F4F<<; 
÷ M>E??G4F<D>64FL 747>7>D5?>G=>5 GEFD>=EF6> E =5<E?D46=>= 46F><4F<>>= D57G?<D>64=<O < 

557>?4E=>EF<; 
÷ ?D<<5=OFL >7>=L 4?O >5=4DG65=<O GF5G5> 7474 (4?O MF<E F5?5= <E?>?L7G=F5 <O?L=GN M<G?LE<N); 
÷ 6>?NG4FL 7>D5?>G ?D< >FEGFEF6<< FO7< 6 4O<>E>45; 
÷ ?D< 6>?NG5=<< 7>D5?>< ?D<5?<64FL ?<F> > E<>FD>6><G >F65DEF<N <5=55, G5< =4 0.5 <; 
÷ 6?445?LFG ?D><76>4<FL D5<>=F 7>D5?><, 4 F4>65 6=>E<FL 6 >>=EFDG>F<N >4><5-?<5> <7<5=5=<O. 

3.3. �D< =5D45>F4NM5= 7>D5?>5 �����/� �$��/ �����/ �/&, ���$/&/. 
3.4. �D< >5=4DG65=<< 6 ?><5M5=<< 74?4E4 7474 =5<54?5==> ?5D5>D>=F5 747 =4 7>D5?>G, >F>D>=F5 >>=4 

< 465D<, 6O7>6<F5 ?> F5?5D>=G 04 464D<==GN 747>6GN E?G65G, G44?<F5 ?N45= <7 ?><5M5=<O. �> 5U ?D<5744 < 
4> GEFD4=5=<O GF5G>< 7474 =5 ?D><76>4<F5 D45>F, E6O74==OE E >7=U< < <E>D>>5D47>64=<5< (=5 6>?NG4=F5 
M?5>FD>>E65M5=<5, =5 ?>?L7G=F5EL 747>6O<< < M?5>FD<G5E><<< ?D<5>D4<<, =5 746<74=F5 >7=O < F.4). 

3.5. � E?GG45 6>7=<>=>65=<O ?>64D4 =5<54?5==> E>>5M<F5 6 ?>64D=GN G4EFL ?> F5?: 01 
 
 

4. &5E=<G5E>>5 >5E?G6<64=<5 
 



4.1. �45?N45=<5 74 D45>F>= 7>D5?>G=>7> GEFD>=EF64 6>7?4745FEO =4 6?445?LF4, >>F>DO= >5O74= 
E>45D64FL 57> 6 G<EF>F5 < 6 <E?D46=>< E>EF>O=<<. 

4.2. �D>D<?4>F<G5E>>5 >5E?G6<64=<5 < D5<>=F ?D><76>4OF D45>F=<>< 747>6>7> E>7O=EF64 E>7?4E=> 
«�=EFDG>F<< ?> ?D>6545=<N F5E=<G5E>>7> >5E?G6<64=<O 6=GFD<4><>6>7> 747>6>7> >5>DG4>64=<O». 
 

5. &D4=E?>DF<D>6>4 < ED4=5=<5 
 

5.1. �47>7>D5?>G=>5 GEFD>=EF6> 4>?6=> ED4=<FLEO 6 7>D<7>=F4?L=>< ?>?>65=<< 6 >4<= ODGE 6 
74>DOF>< ?><5M5=<<, 74D4=F<DGNM5< 74M<FG >F 4F<>ED5D=OE >E44>>6 < 4DG7<E 6D54=OE 6>745=EF6<=, 6 F4D5 
?D54?D<OF<O-<77>F>6<F5?O. 

5.2. �47>7>D5?>G=>5 GEFD>=EF6> FD4=E?>DF<DG5FEO ?N5O< 6<4>< FD4=E?>DF4, ?D< GE?>6<< 74M<FO >F 
<5E4=<G5E><E ?>6D5645=<= < =5?>ED54EF65==>7> ?>?444=<O 6?47<. 
 

6. �4D4=F<==O5 >5O74F5?LEF64 
 

�D54?D<OF<5-<77>F>6<F5?L 74D4=F<DG5F 557>F>47=GN D45>FG 7>D5?>< ?D< E>5?N45=<< ?>FD55<F5?5< 
?D54NO6?O5<OE ?D46<? ED4=5=<O, <>=F464 < M>E??G4F4F<<, GEF4=>6?5==OE =4EF>OM<< «$G>>6>4EF6>< ?> 
M>E??G4F4F<<». 

�4D4=F<==O= ED>> M>E??G4F4F<< 7>D5?>< - 12 <5EOF56 E> 4=O ?D>446< G5D57 D>7=<G=GN F>D7>6GN E5FL. 
�4D4=F<==O= D5<>=F ?D><76>4<FEO E?5F<4?<EF>< ?D54?D<OF<O-<77>F>6<F5?O <?< 57> ?D54EF46<F5?5<. 
%D>> E?G65O 7>D5?>< - 10 ?5F. 
�D< ?>>G?>5 7>D5?>< ?>>G?4F5?L 4>?65= ?>?GG<FL ��$��&���'. ��$&' E >F<5F>>= 44FO 

?D>446< 7>D5?><. 
�D< >FEGFEF6<< =4 ��$��&����� ��$&� LF4<?4 <4747<=4 E >F<5F>>= 44FO ?D>446< 74D4=F<==O= 

ED>> <EG<E?O5FEO E> 4=O 6O?GE>4 55 ?D54?D<OF<5<-<77>F>6<F5?5<. 
� E?GG45 6OE>44 <7 EFD>O 6 F5G5=<< 74D4=F<==>7> ED>>4 >4>>7>-?<5> G7?4 ?> 6<=5 ?D54?D<OF<O-

<77>F>6<F5?O E?5F<4?<EF 747>6>7> E>7O=EF64 =4 >E=>64=<< ��$��&����� ��$&/ E>6<5EF=> E 6?445?LF5< 
?5G< 4>?65= E>EF46<FL 4>F, >>F>DO= 6<5EF5 E 45D5>F=O< G7?>< 6OEO?45FEO <77>F>6<F5?N. �D< >FEGFEF6<< 
45D5>F=>7> G7?4 <?< 4>F4 ?D54?D<OF<5-<77>F>6<F5?L =5 6OEO?45F 6?445?LFG <E?D46=O= G75?. 

�D54?D<OF<5-<77>F>6<F5?L =5 =5E5F >F65FEF65==>EF< 74 =5<E?D46=>EFL 7>D5?><, < =5 74D4=F<DG5F 55 
D45>FG 6 E?54GNM<E E?GG4OE: 

÷ ?D< =5?D46<?L=> <?< =5 ?>?=>EFLN 74?>?=5==>= ��$��&����� ��$&�; 
÷ ?D< =4?<G<< <5E4=<G5E><E <?< <=OE ?>6D5645=<= <745?<O, O6?ONM<EEO E?54EF6<5< =4DGL5=<O 

?D46<? M>E??G4F4F<<; 
÷ ?D< =5E>5?N45=<< ?D46<? FD4=E?>DF<D>6><, ED4=5=<O < <>=F464; 
÷ 6 E?GG45 E4<>EF>OF5?L=>7> D5<>=F4 <?< 6=5E5=<O >>=EFDG>F<6=OE <7<5=5=<= =5G?>?=><>G5==O<< 

?<F4<<; 
÷ ?D< <E?>?L7>64=<< <745?<O =5 ?> ?DO<><G =47=4G5=<N 

 
 

 

 

 

 

 

 

 

 

 


